


2. 2882 o)W 4 x 2 Lhro] A5e] Aol HA stelw @ ), A4
A2 A% x & Pohel?

@D 2 ® 3 3 4 @ 6 B 8



3. F A4 29%x3x59222x3xc 9 HAaFMEI 23 x32x5xT7 Y
W, a+b+c o g2

D 9 @ 10 3 11 @ 12 B 13



@ -8

@D -10



5.

ohg

Al
al

2_
=

ARE

StE B Aeoz 58 5

(_

6)”

—48

=97 % (=8)—
=36+4X%X(-3) =
=36+ (-3)x4
=(—12) x4

I

I

ONORGNE

t



W) Apej o] At e, Ao A A b, Ao A At a ]
A5 A o2 YERfA?

@ a+b+c @ 100a + 10b + ¢

® a+ 10b + 100c¢ @c—i-ﬁb—i-ma

1 1
@ Q+Eb+mc



7. 7120l x°C ¢ W, &9 £E(y) &=y = 320 + 0.6x(m/s) o]t}
7]&0] 20°C & o, £ 9] £k=7?

@® 330(m/s) @ 331(m/s) ® 332(m/s)
@ 333(m/s) ® 334(m/s)



8.



® 50 B 52 @ 54 B 60

@D 40



717

slof sh=

o %7

2x=1->x




17}9

@ 24, 32

O 12, 18

@ 22x3x5%,2x32x5

® 14, 20

® 22%x3,22%x32 2x3%2x7



12. 5 4915 A, B o] HA3M57} 16 L W, 100 oJ3ke] 4, B o] F)

0] A4

D 4 @ 571 3 6 7l @ 770 G s



HA =

S

_#OT
N

;oT
X

_#OT
N



7b2o] Zol7k dem , Al 22] Zol7} 6em , 017} 3em 2 A5
mopo] wgo] glrt. o] AL BE WO 47 Aol HLUAS
ST, A Rope] MES M4 Aol FEuA Byl
HES W T, WAt B 4y

D 14 7 @ 16 3 20 @ 24 A 3 28 7



15. &4

4 xy ol Aot akb = =3 22 235 e

@ a7tb Bt AHgkel F 1 : -
© a7}b Hek Agke] 22 0 1

ofefl, 8% [{2% (-3)} % (-5)] & ot}

S EER
=




16.

-3 g5t A

AFo] Q] oF 7124

al:l-'
=i

O]
e A

A, 19

Mol



17. Al

E1s

LN

a, b, c ol st axb =5, ax (b+c) =3 L M, axc 9

D 2



18.



® ax =3y O]Qx:%yo]u}.
oY o gr=3y0

® x=-2y°lHx+1=-2(y+1) o}
@ x =2y o|H 4x = 2x + 4y o]t}

2
® 5x-3=5y-2 0@ x- 2 =y 2 oIk



20.

742 ZF uf, A4 6 km 2 AHAAS gl 7Fa st o)A

st
i%ﬂﬂb A4 3km 2 Aojerhy & uf 1 30 Ho] Athy

7710] 72 & Fobe BAolh the BA2] Hol
am. 1% 0 9 % Aeow 59 348 Zajer,

HellA
HellA

Hoz

s 7t2 9] A2 E xkmzty 6}‘11,
stwg 7w Aels MO (@ % Aol sael A
2 dels Az (@ 5 AR ol

A7} =30) o]c}. e
oHE (@ x+2x =180 ) oItk (@ x =60 ) °I.
WA Q] A= 60 kmo|tt.

@\k
OJ\H

N
=
>
%




